\Version 23.1.1

e iRH

Creatine

amidinohydrolase

BC002

FEEnfEfY
Creatine + HLO —— Sarcosine + Urea
FARERR
SR HeXEERETHAR
E{=ERES >90%
EEiE M >6 U/mg B
BEAEE <0.1%
ANETEs <0.001%
A RERE 1L EE <0.001%
NADH S 1tk <0.001%
R
KR WY, ABRBRE K ARES
VIS EC35.3.3
oTE 48 kDa (SDS-PAGE)
FHA 4.6
Km {8 1.5 x102M (Creatine)
5 Ag*, Cu?*, Hg?*
=& pH 75 Fig. 1
RiERE 50°C Fig. 2
pH f2E M pH 4.5-10.0 (25°C, 16 h) Fig. 3
ARIREM 50°CIA T H&E (pH 7.5, 30 min) Fig. 4
REM -20°CER E1RTE 12 P AR ¥ 90% LA LiE M Fig. 5
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50 mM Buffer solution: pH 4.5-5.5, acetate buffer;
pH 6.0-8.0, Na-phosphate; pH8.0-9.0, Tris-HCI; pH
9.0-10.0, Glycine-NaOH.

Enzyme concentration: 1 mg/ml.
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25°C, 16 h-treatment with 50 mM buffer solution:
pH 4.5-5.5, acetate buffer; pH 6.0-8.0, Na-phosphate;
pH8.0-9.0, Tris-HCI; pH 9.0-10.0, Glycine-NaOH.
Enzyme concentration: 1 mg/ml.
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Reaction in 50 mM Na-phosphate buffer pH 7.5.
Enzyme concentration: 1 mg/ml.
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30 min-treatment with 50 mM
Na-phosphate buffer, pH 7.5.
Enzyme concentration: 1 mg/ml.
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Creatine amidinohydrolase

Creatine + H20 » Sarcosine + Urea
Urea + 2(CH3)2N@CHO - > [(CH3)2N@-C:N]2CO +2 H0

FK% (Urea) #1 DAB (p-dimethylaminobenzaldenhyde) fz MR EIER 2R A S AEIE 9 A EITTE 435

nm &30 .

EfYEE X

BURREENAETRAZET, S5ME1 umol BT ¥ K AN SR RINEEE .
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RF: 0.1 MAESA R

RF: 452.0 g DABIAHRZTELI00 mMIZEREM A, HMANIS mEREREE
E#RE%: 50 MM PBS, pH 7.5

TN PAERRRISEERTEZ2.0-3.0 Uml,

BRIESR:

1. B mBRF F5 ml EPE R, 37°CFAMS min.

2. fAXNRFIN 0.1 ml, SEAT,

3. 37°C/KA 210 minf&, AAA2.0 mEXFIN LIER R, FHAE25°CHIE 20 min,
4 EREINDHFETT, MER LRSS nmAL IR EE.

5. iR BERIEAZTAXME.

AITE:
AA x 3.1 x df
0.321x0.1x10

Volume activity (U/mL) = =AA X9.66 X df

Weight activity (U/mg) = Volume activity x 1/C

3.1: RELARMAIR (ml);

0.1: EEEATR (ml);

10: RZAT[E] (min);

df: G

C: EgRE (mg/ml);

0.321: FEFRAE435 nmAL BRI R (cm¥umol).



